ALPRN

AIR-300

Alpha® Mini Air Polisher
Parts List and Schematic

Part No: AIR-300

72 Alpha Professional Tools

103 Bauer Drive, Oakland, NJ 07436 « 800-648-7229 « Fax: 800-286-0114
www.alpha-tools.com

AIR-300 PARTS LIST AND SCHEMATIC
JANUARY 2013



ALPHA® AIR-300 MINI AIR POLISHER SCHEMATIC

18 19 )
»>® L&

8 27

.5
TN

Need More Info? Visit us on the web at www.alpha-tools.com #2» Alpha Professional Tools’ | 9



ALPHA® AIR-300 MINI AIR POLISHER PARTS LIST

DRAWING NO. PART NO. ITEM DESCRIPTION MSRP
1 300001 Water-feed Assembly $29.48
2 300002 Screw M4X10 $1.48
3 300003 Oil Seal $5.67
4 300004 Body $66.15
5 300005 Screw M4X6 $1.37
6 300006 Needle Bearing FJ810W $11.34
7 300007 Snap Ring S-10 $1.59
8 300008 Spiral Bevel Gear $24.19
9 300009 Ball Bearing 6201Z2Z $7.14
10 300010 Spindle 5/8”-11 $52.92
1 300011 Oval Key 3X3X10 $1.85
12 300012 O Ring KS-1 $1.51
13 300013 Nozzle 5/16 $7.80
14 300014 Oil Seal 0520264 $5.67
15 300015 Nut M34 Left Hand $13.70
16 300016 Spiral Bevel Pinion $19.85
17 516-20 Ball Bearing 60822 $7.14
18 300017 F-Bearing Case $11.91
19 300018 Rotor Spacer $3.10
20 300019 Rotor $35.34
21 300020 Vane (4 Piece Set) $13.61
22 300021 Cylinder $34.02
23 300022 Spring Pin ¢2.5X15 $1.55
24 300023 R-Bearing Case $18.14
25 300024 Bearing R4Z2Z $7.09
26 300025 Intake Manifold $21.17
27 300026 Set Screw M5X6 $1.59
28 300027 Grip Cover $11.34
29 300028 Nut @38 $15.88
30 300029 Retainer Nut $19.85
3 300030 Gasket ¢32 $1.42
32 300031 Endcase $60.48
33 300049 O Ring KS-5 $1.32
35 300032 Conical Washer M4 $1.37
37 300033 Valve $17.01
38 300034 Needle Pin ¢1.5x3.8 $1.66

Need More Info? Visit us on the web at www.alpha-tools.com #2 Alpha Professional Tools’

3



ALPHA® AIR-300 MINI AIR POLISHER PARTS LIST

DRAWING NO. PART NO. ITEM DESCRIPTION MSRP
39 300035 Valve Lever $4.54
40 300036 Screw M4X6 $1.37
41 300037 Silencer $9.07
42 300038 Hose Fitting ¢8 $13.61
43 300039 Air Hose 8DX6d 10ft (3m) $22.68
44 300040 Hose Band $2.84
45 300041 Exhaust Hose $17.20
46 300042 Water Valve $20.79
47 300043 Hose Insert $6.80
48 300044 Union Nut $3.40
49 133229 Water Hose 8mm ODx10ft (3m) $7.53
50 133231 Compression Nut $1.89
51 133234 Adapter Fitting $4.43
52 133236 Compression Washer $1.29
53 133232 Water Hose Adapter $2.92
54 300046 Wrench 17mm $7.65
55 AIR-008 Air Polisher Lube Oil 8 oz $8.50
56 300045 ScrewM5X6 $1.37
57 300047 Jiffy Luber $9.92
58 300048 Grease $9.67
59 133230 Sleeving Connector $1.89
60 133233 Hose Washer (Rubber) $0.18
61 133287 Water Attachment Assembly $16.98

Need More Info? Visit us on the web at www.alpha-tools.com #2 Alpha Professional Tools’

4



